\Orjin Automotive




(Ol‘jln Automotive SUZUKI

Steering & Suspension Parts

ALTO Il (EC) (01/1986-11/1993)
@ ALTO Il (EF-SH410) (04/1994-06/2002)

M12x1,25-
M14x1,5-226
mm

03169 Tie rod end

4881084000

SZ001

01278 Axial joint 4883084000

2



(Orjin Automotive SUZUKI

Steering & Suspension Parts

. ALTO IV (RF410) (03/2002-02/2007)

A ey e e e e e
code code

03169

Tie rod end - 4881084000 - = 05782 Axial joint = 48830M70F00 =

orjinautomotive.com |3



(Orjln Automotive

Steering & Suspension Parts

i

SUZUKI

ALTO V (GF-AMF310) (01/2009-->)

AY 4

7
(6 05225

4

2] escription FEATURES 2l Description FEATURES
code code

l 05221 | Stabilizer link | 546164A00B | 42420M68KOD 05224 Ccz';ﬂtsrg 545304A00D | 45201M6BK00

H - 03188 | Tierodend | 48B10M6BKOD | 4709195 H 05225 : saspoanoon | OO i
H - 05222 | Al joint | 48830M6BKO0 | 485104A00C 05226 | Bushing 5442344008 | 45430M6BK00 | Small
I -] 0523 Cczmet:'[” 5452040000 | 45202M68K00 l 05227 | Bushing 5453044000 452(;; rl\[/lG:fKoo -

|




Steering & Suspension Parts

(Orjm Automotive SUZUKI .
- BALENO (EG) (07/1995-11/2002)

}(,
\ &

\

Sy e

Old Old

03173 | Stabilizer link 5461850A00 4663060G00 M10x1,5-84,5 - 03172 | Stabilizer link-R | 4663080F00000 | 4663080F00 Rear-
mm M10x1,5-150
mm

- 03171 | Stabilizer link-L | 4664080F00000 | 4664080F00 | Rear-
Mionis150 WRNSZ002 01209 |Tie rod end | 4832060800 | 4831060800

mm - 03170 | Axial joint - 4883060G00

orjinautomotive.com |5



(Orjin Automotive SUZUKI

Steering & Suspension Parts

. CARRY (FD) (03/1999 - 2003)

i Qi
ba—-ﬁﬁe ﬁﬁ—*d
o= O O 0=

Ref| 2ol CODE Description FEATURES 2L CODE Description FEATURES
code code

- 03178 Stabilizer link - 4242077A00 wa;]’s?_ﬂz 03175 | Tie rod end-R - 4881078A00 -
M12x1,25-
= 03174 Tie rod end-L = 4882078A00 = = 03176 Axial joint = 4883077A00 M14x1,5-240
mm

6|



(Orjin Automotive SUZUKI

Steering & Suspension Parts

. GRAND VITARA (FT-GT) (03/1998-04/2005)

- @
(2 03181) (3 03182]

Ref| 2ol CODE Description FEATURES 2L CODE Description FEATURES
code code

M10x1,25-90
mm

- 01662 Stabilizer link 4242060A00 4242065D00 03182 | Tie rod end-R - 4881065000 -

= 03181 Tie rod end-L = 4882065D00 = = 03183 Axial joint = 4883065000 =

orjinautomotive.com |7



(Orjin Automotive

Steering & Suspension Parts

A e e A e e e
code code

i

4

SUZUKI

GRAND VITARA (JB416-419-420) (10/2005-->)

~ Control arm

03180 | Stabilizer link 4242065400 meﬂ:ﬁ 300 RGN - 4520265400

H - | oo chrr‘:ﬂ'et:'g‘ - 4520165400 -
03179 | Tie rod end 4881065J00 - ¢

H - | os768 Bushing - 4526165100 small

M14x1 5-
02473 | Axial joint 4883065000 | M18x1,5-343 , 4520165100 .
o - 05769 Bushing - Part of Big

8|




(Orjin Automotive SUZUKI

Steering & Suspension Parts

- IGNIS (FH-RG413-RG415) (10/2000-12/2005)

[o][¢] o old .
A I

S2002 01279 4881060800 4882060800 Tie rod end - ' = 05779 4883075F00 = Axial joint =

orjinautomotive.com |9



(Orjin Automotive SUZUKI

Steering & Suspension Parts

« IGNIS (RM413-415) (09/2003-->)

2l CODE Description FEATURES o] CODE Description FEATURES
code code

M12x1,25-
Tie rod end - 4705716 - = 03114 Axial joint = 4701745 M14x1,6-243

mm

03113




(Orjin Automotive SUZUKI

Steering & Suspension Parts

@ JIMNY (FJ) (09/1998-->)

Ref| 2 CODE Description FEATURES et CODE Description FEATURES
code code

M10x1,5-93
mm

- 03362 Stabilizer link | 4242081A10000 | 4242081A10

- 05771 Tie rod end-R - 4881081A00 -

= 05770 | Tie rod end-L = 4882081A00 =

orjinautomotive.com |11



12

Steering & Suspension Parts

LIANA (ER) (03/2002-->)
@ LIANA Combi (ER) (07/2001-12/2007)

(Ol‘jln Automotive SUZUKI .

(1 05778)

. “mr;.:‘

Old oid

l 05778 Stabilizer link 4663059J00 Rear H 05775 Axial joint 4883054G00
Rear- Control arm
' - 03171 | Stabilizer link-L | 4664080F00000 4664080F00 M10x1,5-150 H ) Lty complete-L ) R )
mm
7 gs77y | Control am - 452015900 -
Rear- complete-R
- 03172 | Stabilizer link-R | 4663080F00000 4663080F00 M10x1,5-150
mm = 05227 Bushing 545304A00D 2L Big
Part of
I Sz002 | 01279 Tie rod end 4882060800 4881060B00 = H 05783 Bushing R 4550050800 Small




(Orjin Automotive

s

Steering & Suspension Parts

[

1;

4

—&

— 00205

SUZUK]
RENO (2004-2008)

Old . Old o

DAWIS-L | 00208 | Stabilizer link-L . gap30g | M1OK1.25-271 - o1gg | Contol am 96415064 96391851 | 183724 mm
mm complete-R
DAWI5R | 00209 | Stabilizer link R . gaozton | M1OKL252TT 0o004 | GO0l A WO 100406 96391850 .
mm ball joint Part of
M12x1 5-
DAWIS-L | 00213 | Tie rod end-L - 96407485 Female- DAWI3 | 00205 Ball joint - 96490218 18
e rod e M1dx1,5-142 !
mm
M12x1,25-
DAWIS-R | 00214 | Tie rod end-R 93740723 93740623 M12’\:?|5e3:190 DAW21 | 02016 Bushing . 96378346 Small
mm
] 01825 Ccimt:r[” 96415063 96391850 | 18-372.4 mm H DAW22 | 02015 Bushing - 96391856 Big

[13



14

(Orjin Automotive

i

Steering & Suspension Parts

SUZUKI

SPLASH (01/2008-->)

9 04649

10 04650

A Y

Oz

7

8 04648 5 04645 8 04648

v e

ol CODE Description FEATURES ol CODE Description FEATURES
code code

- 01517 | Stabilizer link . soa0060000 | M10x1:25-300 - o4pa7 | ConUOl AM WO | e o700 #520272K00 -
mm ball joint-R Part of
. 03188 = Tie rod end | 48810M68K00 4709195 . l : 04643 Ball joint 4520272K00 45'%01172*?00 :
art 0
: 03189 | Axial joint 488306300 4883060000 -
H - 04649 Bushing 455306200 452?[620100 Small
. 04644 Control arm : 4520272K00 -
S 4520172K00
- 04650 Bushin 452027200 Bi
- 04p45 | Conrol am - 4520172K00 - . Part of 0
Complele—R
- 04gap | COMON A WO o 7ok00 4620272K00 ; - 04652 Bushing . 4622151K10 Rear Axle
ball joint-L Part of




(Orjm Automotive = SUZUKI .

Steering & Suspension Parts

. SWIFT | (AA) (10/1983-02/1989)

»

EFCI e
code
» I $7002 4881060800 ‘

01279 Tie rod end ‘ 4882060B00

orjinautomotive.com |15



(Ol‘jln Automotive = SUZUKI .

Steering & Suspension Parts

SWIFT Il HATCHBACK (EA, MA) (03/1989-12/2005)
@ SWIFT Il SALOON (AH, AJ) (03/1989-05/2001)

[ 1_03187] [ 1_03187]
O ('3 "03186)

M12x1.25-
M14x1.5-287 mm

2| CODE Description FEATURES 2] CODE Description FEATURES
code code

03187 Stabilizer link 4663060811 Front/rear
4883060800

03186 Axial joint

H Sz002 | 01279 Tie rod end 4882060800 4881060800




(Orjin Auto

motive

Steering & Suspension Parts

(7 04649

04649

SUZUKI

SWIFT Il (RS413-415) (02/2005-->)

(o][¢] [o][¢]
CEC e g

01517 | Stabilizer link spao062000 | M1OX1:25-800 05773 | Control am 4520162400
mm complete-R
I - o313 | Tie rod end - 4705716 - H 03190 | Ball joint 452026200 45§,2i62;°° -
H - ostse | Axal joint 488306300 | 4883060400 - 04649 Bushing 455306200 452?[62;100 small
- | os77p | Control am : 4520262400 - 05774 Bushing - 1620162J00 Big
complete-L Part of

[17



(Orjin Automotive SUZUKI

Steering & Suspension Parts

@ SWIFT IV (AZG, AZH) 10/2010-->

(1 03366 (1 03366

2 CODE Description FEATURES ] CODE Description FEATURES
code code

I 03366 | Stabilizer link | 4242080000000 | 4242059400 | M10x15-271 mm sy | Contolam L0 4sa0166L00 )
complete-R
= 05763 | Tie rod end-L = 488206800 S
H 7 S 05225 ! "545294A00A 452:5%'}00 Ball joint
H - 05764 | Tie rod end-R - 488106800 -
= 05756 Bushing 4553071L00 4526179J00 Small
S 05765 Axial joint S 488306800 =
) 71742732 4520161M00 .
) Control arm ) . - | 05757 Bushing Big
I 05766 complete-L 4520268100 Part of Part of
[



(Orjin Automotive SUZUKI

Steering & Suspension Parts

@ SX4 (RW415-416-419) (06/2006-->)

G e A

M10x1,5-271 Control arm

03366 Stabilizer link 4242080J00000 4242080J00 05762 4520179J00
mm complete-R
H - 05759 Tie rod end - 4881079J00 - H - 05756 Bushing 4553071L00 452617900 Small
A 488307910 ) 71742732 4520161M00 )
H - 05760 Axial joint-L - Part of - - 05757 Bushing Part of Part of Big
Control arm 4883079410
- - - - 2 i i0i -
I 05761 — 4520279J00 H 0595 Axial joint -R Part of

orjinautomotive.com |19




(Orjin Automotive

Steering & Suspension Parts

SUZUKI

SX4 S-CROSS (08/2013-->)

old o Old o
R A e R

- 03366 | Stabilizer link | 4242080000000 | 4242089000 | 10,5271 . 05755 | Control am - 4520161M00 -
mm complete-R
- 05752 Tie rod end - 4881079401 - - 05758 Ball joint tzali i Al -
Part of Part of
- 05753 Axial joint - 4883061M00 - - 05756 Bushing 4553071100 4526179000 Small
- 05754 | Control arm - 4520261M00 - : 05757 Bushing | 71742732 Part off 2016TMO0 Big
complete-L Part of




(Orjm Automotive = SUZUKI .

Steering & Suspension Parts

. VITARA (ESCUDO) (ET, TA) (05/1988-03/1998)

¥

01662 Stabilizer link 4242060A00 4242065D00 M10>:”§5 o0 03185 Tie rod end 4882060A00

e e
code code

l S7004 01281 Tie rod end = 4881060A00 = I SZ005 01282 Ball joint 4570060A01 4570060A00 =

orjinautomotive.com |21



(Orjin Automotive SUZUKI

Steering & Suspension Parts

- WAGON R (CT21S-CV21S) 09/1993 - 02/1998

CECI T
code
» I - ‘ 03169 ‘ Tie rod end ‘ 4881084000 48810M84001 - ‘

22




(Orjin Automotive

Steering & Suspension Parts

SUZUK]
WAGON R+ (MM) (05/2000-->)

o 25 on |G |Gt i
code

» - 03114

Axial joint

4883083E00

4701745

M12x1,25-
M14x1,5-243
mm

orjinautomotive.com |23



(Orjin Automotive

Steering & Suspension Parts

01662 M10x1,25-90
mm

Stabilizer link 4242060A00 4242065000

. a5 coe | v |G- ox-tnan | s
code

24|

SUZUK]
X' 90 (01/1996-12/1998)




(Orjin Automotive SUZUKI

Steering & Suspension Parts

. WAGON R+ (EM) (02/1998-05/2000)

05779 Axial joint 4883075F00 -

a5 cone oo oo | -
code




